ABSTR.	ACT OF OFFERS - CONSTRUCTION		1	ITATION NUM -14-B-0004	BER	2. DATE ISSUED 11-Sep-14		DATE OPENED 30-Oct-14	PAGE 1 OF 10	
4 ISSU	ING OFFICE		VV91260	-14-6-0004			of Certifying Official (
	y Corps of Engineers, Phila		I CEDTIE	V that I have or	pened, read, and		die, Chief, Contracts			
	aker Building, Room 643			on this abstract			die, Chiel, Contracts	Branch Date Signed [2	DW14	
	aker Building, Room 645 In Square East					Signature		Date Signed (,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	phia, PA 19107-3390		received	in response to t	nis solicitation.					
	JECT TITLE						9. OFFE	RS		
			8. (GOVERNMENT ES	STIMATE	NO.: 1	(LB)			
ABSEC	ON INLET, COASTAL STORM DAMAGE REDUCT	ION	(Chec	k A, B or C and co	mplete D, E, and F.)	A. OFFEROR		NO.: 2 A. OFFEROR		
	TURES BRIGANTINE INLET TO GREAT EGG HAI		,		, , , , , ,	CREAMER & S			RUCTION CO., INC	
ABSEC	ON INLET, ATLANTIC COUNTY, NEW JERSEY	•	,	A. HIRED LAB	OR	101 E. BROAD		1030 ROUTE 83 CLERMONT, NJ 08210		
						HACKENSAC				
				B. REASONAE	BLE CONTRACT	B. Bid Security (Ty	·	B. Bid Security (Type		
						BID BOND 209		BID BOND 20%		
6. NUMBER OF AMENDMENTS ISSUED				C. REASONAL	BLE CONTRACT	C. Amendment		C. Amendment A	Acknowledged	
	0001 THROUGH 0003					YES		YES		
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	BASE BID ITEMS:									
	Mobilization & Demobilization	1	JOB	LS	\$1,652,748.55	LS	\$635,000.00	LS	\$500,000.00	
	Structures Monitoring	1	JOB	LS	\$16,922.34	LS	\$95,000.00	LS	\$50,000.00	
3	Name NJDEP, Atlantic County & Atlantic City	1	JOB	LS	\$2,000.00	LS	\$1.00	LS	\$0.01	
	"Additional Insured" Under Gen. Liability Insurance)								
	STRUCTURE 1 - STA 0+26 TO STA 13+58									
	Structure 1 Location Demolition	1	JOB		\$2,000.00	LS	\$120,000.00	LS	\$3,830,000.00	
5	Removal/Disposal of Asbestos-Containing	1,700	S.F	\$11.59	\$19,703.00	\$15.00	\$25,500.00	\$20.00	\$34,000.00	
	Flashing & Roofing				,					
6	Concrete Pile 16-Inch Square by 38 Foot Long	185	EA	\$3,586.95	\$663,585.75	\$5,000.00	\$925,000.00	\$4,000.00	\$740,000.00	
7	Rehandled Stone - Structure 1 Groin/Jetty Stone	1	JOB	LS	\$266,490.00	LS	\$350,000.00	LS	\$500,000.00	
	Steel Sheet Pile	1,404	L.F	\$2,430.32	\$3,412,169.28	\$1,500.00	\$2,106,000.00	\$1,500.00	\$2,106,000.00	
9	Articulated Concrete Block (ACB) or Stone-Filled	134,600	S.F		\$2,336,656.00	\$18.50	\$2,490,100.00	\$15.00	\$2,019,000.00	
	Marine (SFM) Mattresses	,						· 1	, , , ,	
10	Corestone under 11-Ton Capstone	12,340	TON	\$112.36	\$1,386,522.40	\$109.00	\$1,345,060.00	\$80.00	\$987,200.00	
11	11 Ton Capstone	45,340			\$4,770,674.80		\$6,030,220.00	\$190.00	\$8,614,600.00	
	R-8 Riprap	16,000			\$973,760.00	\$95.00	\$1,520,000.00	\$70.00	\$1,120,000.00	
	Concrete Pile Cap	180		\$1,548.56	\$278,740.80		\$360,000.00	\$2,000.00	\$360,000.00	
							•		· '	
NOTES	: Bidder# 6, has mathematical errors and have t	peen correcte	d and indi	cated by aster	isk * on Item# 16	and Item# 46.				
]						
			-							
						,				
			 							
					٠					
									,	
L		1								

ABSTR	ACT OF OFFERS - CONSTRUCTION			ITATION NUM -14-B-0003	BER	2. DATE ISSUED		DATE OPENED	PAGE 2 OF 10
4. ISSU	NG OFFICE		*****	1+ 15 0000		Name and title	of Certifying Official (I l	
	y Corps of Engineers, Phila		I CERTIE	Y that I have or	ened, read, and	Ivame and title	or Certifying Official (i ype)	
	aker Building, Room 643		rocordod	on this abstract	ell offere	Ciamatura		D-4- 0' 1	
	n Square East			in response to t		Signature		Date Signed	
	phia, PA 19107-3390		received	in response to t	nis soncitation.				
	ECT TITLE								
10.11100	LOT TITLE						9. OFFE		
				SOVERNMENT ES			(LB)		(LB)
1			(Chec	k A, B or C and co	mplete D, E, and F.)	A. OFFEROR		A. OFFEROR	
1						JJ. FLETCHER	CREAMER & SON	AGATE CONS	TRUCTION CO INC
				A. HIRED LAB	OR				
(continu	nd)			D DE100111					
Continu	eu)		.,	B. REASONAL	BLE CONTRACT	B. Bid Security (Ty	pe and Amount)	B. Bid Security (Ty	/pe and Amount)
G NILINA	BER OF AMENDMENTS ISSUED		X	0 5=400					
O. NOIVII	DEK OF AMENDIMENTS 1880ED			C. REASONAL	BLE CONTRACT	C. Amendment	nt Acknowledged C. Amendment Acknowled		Acknowledged
7A.	70								
	7B.	7C.	D.	E.	F.	E.	F.	E.	F.
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
	Stormwater Outfalls & Drainage Structures	1	JOB	LS	\$921,932.43	LS	\$800,000.00	LS	\$500,000.00
1	Sand Fill	14,000		\$921,932.43	\$508,060.00	\$35.00	\$490,000.00		\$350,000.00
16	Seeding	35,400	S.Y	\$.39	\$13,806.00	\$8.00	\$283,200.00		\$35,400.00
17	Bedding/Mattress Stone	1,800	TON	\$57.18	\$102,924.00	\$35.00	\$63,000.00		\$108,000.00
	STRUCTURE 2 - STA 25+10 TO STA 28+60								
18	Structure 2 Location Demolition	1	JOB	LS	\$462,483.07	LS	\$350,000.00		\$50,000.00
	Rehandled Stone - Structure 2	1	JOB	LS	\$6,854.96	LS	\$95,000.00		\$50,000.00
	Construct Structure 2 - Timber Pile Bulkhead	241	LF	\$3,534.06	\$851,708.46	\$5,000.00	\$1,205,000.00		\$723,000.00
21	Articulated Concrete Block (ACB) or Stone-Filled			\$30.17	\$497,805.00	\$18.50	\$305,250.00		\$247,500.00
	Marine (SFM) Mattresses						, ,		1 ,000.00
22	Corestone under 3.5 Ton Capstone			\$78.77	\$70,893.00	\$103.00	\$92,700.00		\$72,000.00
23	3.5 Ton Capstone			\$93.30	\$494,490.00	\$125.00	\$662,500.00		\$530,000.00
	SECTION 1 BOARDWALK CONSTRUCTION - S	TA -1+30 TO S	TA 13+38	,	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	¥.=5,05	+002,000.00		Ψοσο,σσο.σσ
24	Section 1 Boardwalk Location Demolition	1	JOB		\$208,429.20	LS	\$140,000.00		\$1.00
	Concrete Pile 16-Inch Square by 38 Foot Long	108	EA	\$3,911.26	\$422,416.08	\$5,000.00	\$540,000.00		\$432,000.00
26	Concrete Bent 40 Foot Long	7	EA	\$27,790.56	\$194,533.92	\$34,000.00	\$238,000.00		\$175,000.00
27	Concrete Bent 36 Foot Long	59	EA	\$25,011.50	\$1,475,678.50	\$30,000.00	\$1,770,000.00		\$1,298,000.00
28	Concrete Bent 30 Foot Long	3	EA	\$20,842.92	\$62,528.76	\$27,000.00	\$81,000.00		
	Concrete Bent 20 Foot Long	7	EA	\$13,895.28	\$97,266.96	\$18,000.00	\$126,000.00		\$63,000.00
	4 inch to x 14 inch SYP Joists, CCA Treated	60,610	L.F	\$20.68	\$1,253,414.80	\$16,000.00	\$969,760.00		\$105,000.00
	Joist Anchors	654	EA	\$183.80	\$1,233,414.80	\$600.00			\$1,272,810.00
	Boardwalk Deck, IPE/Bethabara	52,000	S.F	\$28.40	\$1,476,800.00	\$34.00	\$392,400.00 \$1,768,000.00		\$248,520.00
	Boardwalk Deck, SYP CCA Treated	500	S.F.		\$1,476,800.00	\$34.00			\$1,560,000.00
	Boardwalk Railing, Post	444	EA	\$1,396.88	\$620,214.72	\$500.00	\$13,500.00		\$10,000.00
	Boardwalk Railing, Rails Set of One 2" Diameter	3,000	L.F	\$44.11	\$132,330.00		\$222,000.00		\$31,080.00
	& Two 1-1/2" Diameter Rails	3,000	L .F	φ-1-1.11	φ132,330.00	\$40.00	\$120,000.00		\$210,000.00
	Vehicle Ramp at Pacific Avenue	4	JOB	LS	\$13E 4E4 27		Φ7E 000 00		#00 000 00
	SECTION 4 BOARDWALK CONSTRUCTION - S	TA 25+25 TO 9	JUD TA 29±44	LS	\$135,454.37	LS	\$75,000.00		\$80,000.00
	Concrete Pile 16-Inch Square by 38 Foot Long	77		63 044 30	6204 407 00	05 000 00	6005 000 00		***
32	Concrete Bent 20 Foot Long	''	EA	\$3,911.26	\$301,167.02	1 ' ' 1	\$385,000.00		\$308,000.00
	4 inch to x 14 inch SYP Joists, CCA Treated	5 000	EA L E	\$13,895.28	\$69,476.40	\$20,000.00	\$100,000.00		\$150,000.00
	Boardwalk Deck, IPE/Bethabara	5,900 8,500	L.F	\$20.68	\$122,012.00		\$129,800.00		\$123,900.00
	Boardwalk Deck, IPE/Betnabara Boardwalk Deck, Reinstall	8,500		\$28.40	\$241,400.00		\$255,000.00		\$255,000.00
41	Doardwark Deck, Reinstall	800	S.F	\$14.61	\$11,688.00	\$50.00	\$40,000.00	1	\$24,000.00

ABSTRA	ACT OF OFFERS - CONSTRUCTION			ITATION NUM -14-B-0003	BER	2. DATE ISSUED		DATE OPENED	PAGE 3 OF 10	
4. ISSUI	NG OFFICE		*****	1.2000		Name and title o	of Certifying Official (Tyne)		
	Corps of Engineers, Phila		CERTIE	Y that I have or	ened, read, and	Tranic and the c	or ocialying omolal (1 300)		
Wanama	aker Building, Room 643			on this abstract		Signature		Date Signed		
	n Square East			in response to t		Olgitature		Date Orgined		
	phia, PA 19107-3390		i cocivea :	in response to t	ins sonoitation.					
	ECT TITLE						9. OFFEI	28		
				GOVERNMENT ES	TIMATE	NO.: 1	(LB)	NO.: 2	(LB)	
					mplete D, E, and F.)	A. OFFEROR	(LD)	A. OFFEROR	(LD)	
			(Criec	AA, BOI Canu Co	implete D, E, and F.)		CREAMER & SON		STRUCTION CO. INC	
				A. HIRED LAB	OR		DIVERNIEN & SON	AGAIL CONS	TRUCTION CO. INC	
				A. HINLD DAD	Oit					
(continue	2d)			R DEASONAE	BLE CONTRACT	B. Bid Security (Typ	oo and Amount)	D. Did Coourity /T	ime and Amount	
(continue	,,,,		х	D. NEAGONAL	DLL CONTRACT	b. Bid Security (Typ	be and Amount)	nd Amount) B. Bid Security (Type and Amount)		
6. NUME	BER OF AMENDMENTS ISSUED			C. REASONA	BLE CONTRACT	C. Amendment	Acknowledged	C. Amendment Acknowledged		
7A.	7B.	7C.	D.	E.	F.	E. 1	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY	3.4.1	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	Boardwalk Railing, Post	102	EA		\$142,481.76		\$51,000.00			
	Boardwalk Railing, Rails set of one 2" Diameter &	700	_ `	\$44.11	\$30,877.00	\$40.00	\$28,000.00	\$70.00	\$49,000.00	
	two 2" Dimenter & two 1-1/2" Diameter Rails			•	400,077.00	1 410.00	Ψ20,000.00	470.00	Ψ+0,000.00	
	Bulkhead Handrail	64		\$45.95	\$2,940.80	\$350.00	\$22,400.00	\$80.00	\$5,120.00	
	Timber Pile	20		\$964.95	\$19,299.00	\$1,600.00	\$32,000.00	\$1,300.00	\$26,000.00	
	Timber Bend	100		\$96.50	\$9,650.00	\$112.00	\$11,200.00	\$200.00	\$20,000.00	
	PVC Conduit 1-1/2 Inch Schedule 40	600		\$45.95	\$27,570.00	\$8.00	\$11,200.00	\$7.00	\$4,200.00	
	Concrete Deck	5,350		\$91.90	\$491,665.00	\$60.00	\$321,000.00	\$30.00	\$160,500.00	
	Polyethylene (PE) Under Drain Pipe	2,350		\$13.79	\$32,406.50	\$7.00	\$16,450.00	\$6.00	1	
	Concrete Slap-Steel Reinforced, 6 Inches Thick	800		\$45.95	\$36,760.00	\$42.00		\$20.00	\$14,100.00	
30	Concrete Stap-Steer Reinforced, 6 inches Trick	800		\$45.95	\$30,760.00	\$42.00	\$33,600.00	\$20.00	\$16,000.00	
	TOTAL ESTIMATED BASE BID AMOUNT:				\$29,339,027.06		\$29,314,441.00	1	\$20 47E 074 04	
	OPTION BID ITEMS:		 		\$29,339,027.06		\$29,314,441.00		\$30,175,071.01	
	SECTION 2 BOARDWALK CONSTRUCTION-STA	A 42 : 20 TO C	 							
		4 13+30 10 5			00 074 45	ا ا	0.400.000.00			
	Section 2 Boardwalk Location Demolition		JOB		\$9,971.15	LS	\$132,000.00			
	Concrete Pile 16-Inch Square by 38 Foot Long	59			\$230,764.34		\$253,700.00	1 '	\$477,900.00	
	Concrete Bent 40 Foot Long	2		\$27,790.56	\$55,581.12	\$30,000.00	\$60,000.00	\$50,000.00	\$100,000.00	
	Concrete Bent 20 Foot Long	17	EA		\$236,219.76	\$16,000.00	\$272,000.00	\$30,000.00	\$510,000.00	
	4 inch x 14 inch SYP Joists, CCA Treated Joint Anchors	9,086			\$187,898.48		\$136,290.00	\$21.00	\$190,806.00	
		107	EA	1 '	\$19,666.60 \$33,560.00		\$64,200.00	\$380.00	\$40,660.00	
	Boardwalk Deck, IPE/Bethabara	8,400		\$28.40	\$23,560.00		\$285,600.00	\$30.00	\$252,000.00	
	Boardwalk Railing, Post Boardwalk Railing, Rails set of one 2"	117		\$1,396.88	\$163,434.96		\$40,950.00	\$70.00	\$8,190.00	
		800		\$44.11	\$35,288.00	\$35.00	\$28,000.00	\$70.00	\$56,000.00	
	Diameter & two 1-1/2" Diameter Rails Remove & Dispose of Existing Concrete Pile Cap	21	 	00 470 40	¢474 704 40	6775.00	P40 075 00	f0 400 60	MO5 400 00	
00	Bent	21		\$8,179.10	\$171,761.10	\$775.00	\$16,275.00	\$3,100.00	\$65,100.00	
61	Remove & Dispose of Existing Concrete Pile Cap	. 40		64 700 05	P7E 000 40	0005.00	607 000 00	#4 COO CO	#07.000.00	
10	Nemove a Dispose of Existing Concrete Pile Cap	42		\$1,792.05	\$75,266.10	\$665.00	\$27,930.00	\$1,600.00	\$67,200.00	
	TOTAL ESTIMATED OPTION 1 AMOUNT:				\$1,424,411.61		\$1,316,945.00		\$1,787,856.00	
OPTION	2: SECTION 3 BOARDWALK CONSTRUCTION	- STA 17+19 T	O STA 22	2+16						
	Section 3 Boardwalk Location Demolition	1	JOB		\$9,971.15	LS	\$142,800.00	LS	\$90,000.00	
	Concrete Pile 16-Inch Square by 38 Foot Long	88			\$344,190.88		\$378,400.00			
501419-101		NOTE: If more than two offe	A.			by GSA-FAR(48 CER)53,236-1	Ţ270, 100.00	, 75,.00.00	OPTIONAL FORM 1419 /11-86	

ABSTRACT OF OFFERS - CONSTRUCTION			ITATION NUM	BER	2. DATE ISSUED			PAGE 4 OF 10
4 10011110 055105		W912BU	-14-B-0004		11-Sep-14		30-Oct-14	
4. ISSUING OFFICE					Name and title	of Certifying Official ((Туре)	
US Army Corps of Engineers, Phila				pened, read, and		die, Chief, Contracts	Branch	
Wanamaker Building, Room 643			on this abstract		Signature		Date Signed	
100 Penn Square East		received	in response to t	his solicitation.				
Philadelphia, PA 19107-3390								
5. PROJECT TITLE				• • • • • • • • • • • • • • • • • • • •		9. OFFE		
			SOVERNMENT ES			(LB)	NO.: 2	(LB)
		(Chec	k A, B or C and co	mplete D, E, and F.)	A. OFFEROR		A. OFFEROR	
					J. FLETCHER	CREAMER & SON	AGATE CONS	TRUCTION CO. INC
			A. HIRED LAB	OR				
			R DEASONA	BLE CONTRACT	D. Did Consider (To		5 5:10 :: =	
		х	D. REASONAL	DLE CONTRACT	B. Bid Security (Ty BID BOND 20%		B. Bid Security (T	
6. NUMBER OF AMENDMENTS ISSUED			C REASONAL	BLE CONTRACT	C. Amendment			t Acknowledged
0001 THROUGH 0005				0011110101	YES	. A toki i owiedyeu	YES	L ACKITOWIEUGEU
7A. 7B.	7C.	D.	E.	F.	E.	F.	E.	
ITEM DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	r. ESTIMATED	UNIT	F. ESTIMATED
No.	QUANTITY	Civil	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
64 Concrete Bent 40 Foot Long	3	EA		\$83,371.68				
65 Concrete Bent 30 Foot Long	1	EA	\$20,842.92	\$20,842.92		\$90,000.00		\$180,000.00
66 Concrete Bent 20 Foot Long	24	EA		\$333,486.72	\$15,000.00	\$23,000.00 \$360,000.00		\$50,000.00
67 4 inch x 14 inch SYP Joists, CCA Treated	14,542			\$300,728.56	\$15,000.00			\$720,000.00
68 Joist Anchors	162					\$254,485.00	\$21.00	\$305,382.00
69 Boardwalk Deck, IPE/Bethabara		l	1	\$29,775.60	\$425.00	\$68,850.00	\$380.00	\$61,560.00
70 Boardwalk Railing, Post	13,000			\$369,200.00	\$34.00	\$442,000.00	\$30.00	\$390,000.00
	154			\$215,119.52	\$350.00	\$53,900.00	\$70.00	\$10,780.00
71 Boardwalk Railing, Rails Set of One 2" Diameter & Two 1-1/2" Diameter Rails	1,120		\$44.11	\$49,403.20	\$35.00	\$39,200.00	\$70.00	\$78,400.00
72 Removal & Dispose of Existing Concrete Pile Cap Bent	29	L.F	\$8,179.10	\$237,193.90	\$835.00	\$24,215.00	\$3,100.00	\$89,900.00
73 Removal & Dispose of Existing Concrete Pile	58	EA	\$1,792.05	\$103,938.90	\$720.00	\$41,760.00	\$1,600.00	\$92,800.00
TOTAL ESTIMATE OPTION 2 AMOUNT:				\$2,097,223.03		\$1,918,610.00		\$2,834,422.00
TOTAL ESTIMATED DAGE BID & ORTIONS 4.0.0 ANSOLU								
TOTAL ESTIMATED BASE BID & OPTIONS 1 & 2 AMOUI	NI:	I		\$32,860,661.70	1	\$32,549,996.00		\$34,797,349.00

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER

W912BU-14-B-0003

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

				Continuation Sheets (C	DF 1419A) as r	needed.				
2. PROJECT T	TITLE						OFFERS (Co	ntinued)		
				(LB)		(LB)	NO.: 5		NO.: 6	
			A. OFFEROR		A. OFFEROR		A. OFFEROF	RICHARD E. PIERSON	A. OFFEROR) L
				INE, INCORPORATED	A.P. CONST	RUCTION, INC	CONSTRUCT	TION COMPANY, INC	EJC ASSOCI	ATES, INC
			4 COMMERC		915 SOUTH (BLACK HORSE PIKE	426 SWEDES	SBPRP ROAD	140 MOUNTA	
			CRANFORD,	NJ 07016	BLACKWOO	D, NJ 08012	PILESGROVI	E, NJ 08098	SPRINGFIEL	
						ΓΥ (Type and Amount)	B. BID SECURI	TY (Type and Amount)		TY (Type and Amount)
CONT			BID BOND 20		BID BOND 20		BID BOND 20)%	BID BOND 20)%
	ONTRACT ITE			T ACKNOWLEDGED		T ACKNOWLEDGED	C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED	
A.	В.	C.	YES		YES		YES		YES	
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT
BASE BID ITE			,							
1	1	JOB		\$825,000.00	LS	\$1,200,000.00	LS	\$4,575,000.00	LS	\$750,000.00
2	1	JOB	LS	\$70,000.00	LS	\$100,000.00	LS	\$125,000.00	LS	\$195,000.00
3	1	JOB	LS	\$100.00	LS	\$1,500.00	LS	\$75,000.00	LS	\$1.00
STRUCTURE	CTA 0:00	FO 074 40 - F								
STRUCTURE	1 - STA -U+26									
4	4 700	JOB		\$500,000.00	LS	\$400,000.00	LS	\$1,100,000.00	LS	\$1,820,500.00
5	1,700	C.Y	\$30.00	\$51,000.00	\$14.00	\$23,800.00	\$6.60	\$11,200.00		\$44,200.00
6 7	185	C.Y	\$5,860.00	\$1,084,100.00		\$2,220,000.00	\$6,000.00	\$1,110,000.00	\$6,280.00	\$1,161,800.00
8	1 404	JOB S.F	LS	\$300,000.00	LS	\$555,000.00	LS	\$200,000.00		\$27,000.00
9	1,404 134,600	5.F S.F	\$1,400.00	\$1,965,600.00	\$1,900.00	\$2,667,600.00	\$1,600.00	\$2,246,400.00	1 ' '	\$2,611,440.00
10	12,340	S.F L.F	\$16.25 \$90.00	\$2,187,250.00	\$20.00	\$2,692,000.00	\$12.50	\$1,682,500.00	\$31.00	\$4,172,600.00
11	45,340	L.F	\$90.00 \$135.00	\$1,110,600.00	\$120.00	\$1,480,800.00	\$130.00	\$1,604,200.00	\$96.00	\$1,184,640.00
. 12	16,000	L.F S.Y	\$135.00	\$6,120,900.00	\$125.00	\$5,667,500.00	\$145.00	\$6,574,300.00	\$153.00	\$6,937,020.00
13	180	S.Y	\$3,600.00	\$1,024,000.00 \$648,000.00	\$80.00	\$1,280,000.00	\$75.00	\$1,200,000.00	\$84.00	\$1,344,000.00
14	100	JOB	\$3,000.00 LS		\$1,235.00	\$222,300.00	\$1,670.00	\$300,600.00	\$1,900.00	\$342,000.00
15	14,000	L.F	\$25.00	\$1,338,000.00 \$350,000.00	LS	\$66,700.00	LS	\$1,350,000.00	LS	\$3,150,000.00
16	35,400	L.F	\$0.97	\$3,438.00	\$19.00 \$1.00	\$266,000.00	\$19.85	\$277,900.00	\$54.00	\$756,000.00
17	1,800	1 1	\$44.00	\$79,200.00	\$76.00	\$35,400.00	\$1.60	\$56,640.00	\$6.00	*\$212,400.0
	2 - STA 25+10	TO STA 28+6	so 4-4-00	φ/ θ,200.00	J 4/6.00	\$136,800.00	\$100.00	\$180,000.00	\$67.00	\$120,000.00
18	1	JOB	LS		LS	\$200,000.00	ļ	0005 005 55	ļ	
19	11	JOB	LS	\$142,000.00	LS	\$300,000.00	LS	\$325,000.00	LS	\$315,000.00
20	241	L.F	\$5,130.00	\$1,236,330.00	\$5,600.00	\$300,000.00	LS	\$125,000.00	LS	\$100,000.00
21	16,500	S.F	\$16.38	\$270,270.00	\$18.00	\$1,349,600.00 \$297,000.00	\$4,000.00	\$964,000.00	\$4,310.00	\$1,038,710.00
22	900	TON	\$105.00	\$94,500.00	\$109.00	\$297,000.00	\$12.00 \$110.00	\$198,000.00	\$31.00	\$511,500.00
23	5,300	TON	\$110.00	\$583,000,00	\$109.00			\$99,000.00	\$110.00	\$99,000.00
	DARDWALK C	ONSTRUCTI	ON - STA -1+:	30 TO STA 13+38	Ψ110.00	\$601,550.00	\$123.00	\$651,900.00	\$114.00	\$604,200.00
24	1	JOB	LS	\$357,000.00	LS	\$250,000.00		67 E 000 00		
25	108	EA	\$4,600.00	\$496,800.00		\$1,333,800.00	LS \$5,000.00	\$75,000.00	LS	\$65,000.00
			- ,,000.00	ψ-100,000.00	Ψ12,000.00	φ1,333,000.00	Φ5,000.00	\$540,000.00	\$4,860.00	\$524,880.00
NSN 6540-01-280-5502	<u></u> -L				<u> </u>		<u> </u>			

PAGES OF 10

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-14-B-0003

PAGE 6 OF 10

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

2. PROJEC	T TI	ri F			Continuation Sneets (C	14 19A) as 11	eeded.	OFFERS (Con	tinued)		
				NO.: 3	(LB)	NO.: 4	(LB)	NO.: 5	illiaea)	NO.: 6	
				A. OFFEROR		A. OFFEROR			RICHARD E. PIERSON		
					INE, INCORPORATED					EJC ASSOCI	
				VILLING WIAIT	MIL, MOORI ORATED	A.F. CONSTI	COCTION	CONSTRUCT	ON COMPANT, INC.	EJC ASSOCI	ATES, INC.
 				B BID SECURI	Y (TYPE AND AMOUNT)	B BID SECURIT	Y (Type and Amount)	R RID SECURIT	Y (Type and Amount)	B BID SECTION	TV (Type and Amount)
co	NTIN	IUED		5. 5.5 52657	. (D. DID CLOCK	1 (1)pe and 7 anount)	B. BIB OLOGICI	(Type and Amount)	B. BID SECURITY (Type and Amount)	
	3. CONTRACT ITEMS		C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMENT	ACKNOWLEDGED	C. AMENDMENT ACKNOWLEDGED		
A.		B.	C.								
ITEM		ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED
NO.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT
	26	7	EA	\$48,000.00	\$336,000.00		\$152,600.00	\$55,000.00	\$385,000.00		\$262,500.00
	27	59	EA	\$38,000.00	\$2,242,000.00		\$1,234,130.00	\$50,000.00	\$2,950,000.00	\$31,000.00	\$1,829,000.00
L	28	3	EA	\$42,000.00	\$126,000.00		\$60,000.00	\$49,000.00	\$147,000.00	\$30,000.00	\$90,000.00
	29	7	EA	\$24,000.00	\$168,000.00		\$130,900.00	\$33,000.00	\$231,000.00	\$18,000.00	\$126,000.00
	30	60,610	L.F	\$29.00	\$1,757,690.00	\$26.00	\$1,575,860.00	\$15.75	\$954,607.50	\$19.00	\$1,151,590.00
	31	654	EA		\$196,200.00	\$450.00	\$294,300.00	\$383.00	\$250,482.00	\$580.00	\$379,320.00
	32	52,000	S.F	\$51.00	\$2,652,000.00	\$40.00	\$2,080,000.00	\$21.00	\$1,092,000.00	\$43.00	\$2,236,000.00
	33	500	S.F		\$45,000.00	\$27.00	\$13,500.00	\$11.50	\$5,750.00	\$20.00	\$10,000.00
	34	444	EA		\$177,600.00	\$300.00	\$133,200.00	\$6.25	\$277,500.00	\$305.00	\$135,420.00
	35	3,000	L.F		\$120,000.00	\$50.00	\$150,000.00	\$25.00	\$75,000.00	\$115.00	\$345,000.00
	36	1	JOB		\$125,000.00	LS	\$80,000.00	LS	\$75,000.00	LS	\$180,000.00
SECTION 4					+35 TO STA 28+16						· · · · · · · · · · · · · · · · · · ·
l	37	77	EA	\$4,800.00	\$369,600.00	1 ' ' 1	\$977,900.00	\$5,800.00	\$408,100.00	\$6,100.00	\$469,700.00
1	38	5	EA	, , ,	\$120,000.00		\$93,500.00	\$46,000.00	\$230,000.00	\$18,000.00	\$90,000.00
	39	5,900	L.F	\$29.00	\$171,100.00	\$34.00	\$200,600.00	\$15.75	\$92,925.00	\$19.00	\$112,100.00
	40	8,500	S.F	\$51.00	\$433,500.00	\$39.00	\$331,500.00	\$30.00	\$255,000.00	\$42.00	\$357,000.00
	41	800	S.F	\$70.00	\$56,000.00	\$47.00	\$37,600.00	\$10.00	\$8,000.00	\$33.00	\$26,400.00
	42	102	EA		\$40,800.00	\$330.00	\$33,660.00	\$680.00	\$69,360.00	\$335.00	\$34,170.00
	43	700	L.F	\$80.00	\$56,000.00	\$54.00	\$37,800.00	\$25.00	\$17,500.00	\$115.00	\$80,500.00
	44	64	L.F	\$825.00	\$52,800.00	\$210.00	\$13,440.00	\$78.00	\$5,043.20	\$270.00	\$17,280.00
	45	20	EA		\$86,000.00	\$3,000.00	\$60,000.00	\$2,280.00	\$45,600.00	\$2,460.00	\$49,200.00
	46	100	L.F	\$560.00	\$56,000.00	\$1,350.00	\$135,000.00	\$152.00	\$15,200.00	\$140.00	*\$14,000.00
1	47	600	L.F	\$18.00	\$10,800.00	\$14.00	\$8,400.00	\$6.60	\$3,960.00	\$19.00	\$8,900.00
	48	5,350	S.F	\$46.00	\$246,100.00	\$35.00	\$187,250.00	\$22.80	\$121,980.00	\$50.00	\$267,500.00
	49	2,350	L.F	\$9.00	\$21,150.00	\$40.00	\$94,000.00	\$4.75	\$11,162.50	\$8.00	\$18,800.00
	50	800	S.F	\$35.00	\$28,000.00	\$35.00	\$28,000.00	\$19.85	\$15,880.00	\$34.00	\$27,200.00
TOTAL ES	TIMA	TED BASE B	ID AMOUNT	<u> </u>	\$30,710,328.00		\$31,697,590.00		\$34,189,710.20		\$2C C47 E74 CC
				Ī	\$30,7 TO,020.00		Ψο 1,001,000.00		φυ ν , 103,7 10.20		\$36,647,571.00
			*								

1. SOLICITATION NUMBER PAGE 7 OF 10 **ABSTRACT OF OFFERS** W912BU-14-B-0003 CONSTRUCTION INSTRUCTIONS - Attach this form to OF 1419. Abstract of Offers - Construction, when more than 2 offers are received on CONTINUATION SHEET a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed. 2. PROJECT TITLE **OFFERS (Continued)** NO.: 3 NO.: 4 NO.: 5 (LB) (LB) NO.: A. OFFEROR A. OFFEROR A. OFFEROR RICHARD E. PIERSON A. OFFEROR WEEKS MARINE, INCORPORATED A.P. CONSTRUCTION CONSTRUCTION COMPANY INC. EJC ASSOCIATES, INC. B. BID SECURITY (TYPE AND AMOUNT) CONTINUED 3. CONTRACT ITEMS C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED Α. B. C **ESTIMATED** ITEM UNIT D. UNIT E. ESTIMATED D. UNIT E. ESTIMATED E. ESTIMATED D. UNIT E. ESTIMATED NO. QUANTITY **PRICE AMOUNT** PRICE **AMOUNT AMOUNT** PRICE **AMOUNT** OPTION BID ITEMS: OPTION 1: SECTION 2 BOARDWALK CONSTRUCTION - STA 13+38 TO STA 17+19 51 JOB \$65,000,00 LS \$132,000,00 LS \$650,000.00 LS \$143,500.00 52 59 EΑ \$4.600.00 \$271,400.00 \ \$12,500.00 \$737,500.00 \$6,000,00 \$354,000.00 \$5,650.00 \$333,350.00 53 FΑ \$48,000.00 \$96,000.00 \$21,500.00 \$43,000,00 \$45,000,00 \$90,000.00 \$35,000,00 \$70,000.00 54 17 \$391,000.00 \$18,500.00 \$314,500.00 \$30,000.00 \$510,000.00 \$17,300,00 \$294,100.00 55 9.086 L.F \$31.00 \$281,666.00 \$25.00 \$227,150.00 \$16.85 \$153,099.10 \$19.00 \$172,634.00 56 107 EA \$300.00 \$32,100.00 \$445.00 \$47,615.00 \$383.00 \$40,981.00 \$580.00 \$62,060.00 57 8.400 S.F \$51.00 \$428,400.00 \$40.00 \$336,000.00 \$18.00 \$151,200.00 \$41.00 \$344,400.00 58 117 EΑ 400 \$46,800.00 \$260.00 \$30,420,00 \$650.00 \$76.050.00 \$335.00 \$39,195.00 59 800 L.F 80 64000 \$50.00 \$40,000,00 \$30.00 \$24.000.00 \$115.00 \$92,000.00 60 21 ΕA \$940.00 \$19,740,00 \$2,630.00 \$55,230.00 \$0.01 \$2,935.00 \$0.21 \$61,635,00 61 42 EΑ \$940.00 \$39,480.00 \$660.00 \$27,720.00 \$0.01 \$0.42 \$2,570.00 \$107,940,00 TOTAL ESTIMATED OPTION 1 BID AMOUNT: \$1,735,586.00 \$1,991,135.00 \$2.049.330.73 \$1,720,814.00 62 LS JOB \$78,000.00 \$120,000.00 LS \$700,000,00 LS \$170,000.00 63 88 \$4.600.00 EA \$404.800.00 \$12,000,00 \$1,056,000.00 \$6,000.00 \$528,000.00 \$5,500.00 \$484,000.00 64 EA \$48,000.00 \$144,000.00 \$21,000.00 \$63,000.00 \$45,000.00 \$135,000.00 \$33,500.00 \$100,500,00 65 EA \$42,000.00 \$42,000.00 | \$20,000.00 \$20,000,00 \$35,000.00 \$35,000.00 \$33,000.00 \$33,000.00 66 24 EA \$24,000.00 \$576,000.00 \$18,200.00 \$436,800,00 \$30,000.00 \$16,800.00 \$720.000.00 \$403,200.00 67 14.542 L.F \$450,802.00 \$31.00 \$349,008.00 \$24.00 \$15.00 \$218,130.00 \$19.00 \$276,298,00 68 162 EA \$300.00 \$48,600.00 \$440.00 \$71,280,00 \$383.00 \$62,046.00 \$581.00 \$94,122.00 69 13.000 S.F \$51.00 \$663,000.00 \$40.00 \$520,000,00 \$20.00 \$260,000,00 \$37.00 \$481,000.00 70 154 \$500.00 EΑ \$77,000.00 \$188.00 \$28,952.00 \$650.00 \$100,100.00 \$335.00 \$51,590.00

AMOUNT:

71

72

73

1,120

TOTAL ESTIMATED OPTION 2 BID AMOUNT:

29

58

TOTAL ESTIMATED BASE BID AND OPTIONS 1 & 2

L.F

EΑ

EA

\$80.00

\$940.00

\$940.00

\$89,600.00

\$27,260.00

\$54,520.00

\$2,655,582.00

\$35,101,496.00

\$195.00

\$690.00

\$2,600.00

\$218,400.00

\$75,400.00

\$40,020.00

\$2,998,860.00

\$36,687,585,00

\$30.00

\$0.01

\$0.01

\$33,600.00

\$2,791,826.87

\$0.29

\$0.58

\$115.00

\$2,900.00

\$2,700.00

\$128,800,00

\$156,600.00

\$2,463,210.00

\$40,831,595.00

\$84,100.00

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER

W912BU-14-B-0003

PAGE 8 OF 10

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Shoots (OE 1410A) as pooded

2. PROJECT TITLE
NO.: 7 (LB) NO.: (LB) NO.: (LB) NO.: NO.: NO.: NO.: NO.: NO.: A. OFFEROR A
A. OFFEROR JAY CASHMAN, INCORPORATED 549 SOUTH STREET QUINCY, MA 02169 B. BID SECURITY (Type and Amount) C. AMENDMENT ACKNOWLEDGED C
S49 SOUTH STREET QUINCY, MA 02169 B. BID SECURITY (Type and Amount) B. BID SECURITY (Type and
QUINCY, MA 02169 B. BID SECURITY (TYPE AND AMOUNT) B. BID SE
B. BID SECURITY (TYPE AND AMOUNT) B. BID SECURITY (Type and Am
CONTINUED BID BOND 20% C. AMENDMENT ACKNOWLEDGED C
C. AMENDMENT ACKNOWLEDGED
A. B. C. YES ITEM ESTIMATED QUANTITY BASE BID ITEMS: 1
ITEM NO. COUNTITY UNIT D. UNIT PRICE E. ESTIMATED D. UNIT PRICE AMOUNT PRICE AMOUNT
NO. QUANTITY PRICE AMOUNT PRICE PRICE PRICE PRICE PRICE
BASE BID ITEMS: 1
2 1 JOB LS \$167,740.00 3 1 JOB LS \$1.00 STRUCTURE 1 - STA -0+26 TO STA 13+58 4 1 JOB LS \$1,156,533.00 5 1,700 C.Y \$8.10 \$13,770.00 6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
2
3 1 JOB LS \$1.00 STRUCTURE 1 - STA -0+26 TO STA 13+58 4 1 JOB LS \$1,156,533.00 5 1,700 C.Y \$8.10 \$13,770.00 6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
4 1 JOB LS \$1,156,533.00 5 1,700 C.Y \$8.10 \$13,770.00 6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
4 1 JOB LS \$1,156,533.00 5 1,700 C.Y \$8.10 \$13,770.00 6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
5 1,700 C.Y \$8.10 \$13,770.00 6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
6 185 C.Y \$5,092.00 \$942,020.00 7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
7 1 JOB LS \$1,601,770.00 8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
8 1,404 S.F 1433.97 \$2,013,293.88 9 134,600 S.F \$16.25 \$3,549,402.00
9 134,600 S.F \$16.25 \$3,549,402.00
Ψ0,010,102.00
[12,0±0
11 45,340 L.F \$105.11 \$6,393,846.80
12 16,000 S.Y \$141.02 \$1,600,160.00
13 180 S.Y \$100.01 \$527,686.20
14 1 JOB LS \$3,325,952.00
15 14,000 L.F \$20,99 \$293,860,00
16 35,400 L.F \$0.62 \$21,948.00
17 1,800 \$62.90 \$113.220.00
STRUCTURE 2 - STA 25+10 TO STA 28+60
18 1 JOB LS \$462,114.00
19 1 JOB LS \$298,215.00
20 241 L.F \$3,863.31 \$931,057.71
21 16,500 S.F \$35.50 \$585,750.00
22 900 TON \$91.63 \$82,467.00
23 5,300 TON \$114.74 \$608,122.00
SECTION 1 BOARDWALK CONSTRUCTION - STA -1+30 TO STA 13+38
24 1 JOB LS \$202,071.00 25 108 FA \$4.878.00 \$536.834.00
25 108 EA \$4,878.00 \$526,824.00
NSN 6540-01-280-5502

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER W912BU-14-B-0003

PAGE 9 OF 10

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional

				Continuation Sheets (C			+10010101001111001	TICHIO III CACCOC CI 14 C	and attaon additi	onai
PROJECT	TITLE				,	-	OFFERS (Cor	tinued)		
					NO.:	(LB)	NO.:		NO.:	
			A. OFFEROR		A. OFFEROR	₹	A. OFFEROR	RICHARD E. PIERSO	N A. OFFEROR	
			JAY CASHMA	N, INCORPORATED						
			0.000.000.000	7/ (T) (OE AND AND AND						
CONT	INUED		B. BID SECURI	Y (TYPE AND AMOUNT)	B. BID SECURI	TY (Type and Amount)	B. BID SECURIT	Y (Type and Amount)	B. BID SECURIT	Y (Type and Amount)
	CONTRACT ITE	MS	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	IT ACKNOWLEDGED	C. AMENDMENT	ACKNOWLEDGED	C. AMENDMEN	T ACKNOWLEDGED
A.	В.	C.								
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT
26		EA		\$256,340.00		7 0		741100111	11102	74000141
27			\$34,025.00	\$2,007,475.00		·				
28			\$34,249.00	\$102,747.00						
29			\$27,287.00	\$191,009.00						
30		L.F		\$1,166,742.00						
31		EA	,	218998.44						
32		S.F		\$1,560,000.00						
33		S.F		\$10,185.00						
34		EA		\$288,600.00						
35		L.F		\$90,000.00						
36		JOB	1 1	\$80,901.00	ļ					
				+35 TO STA 28+16						
37		EA		\$462,000.00					_	
38			\$34,085.00	\$170,425.00						
39		L.F		\$170,423.00						
40		S.F		\$132,397.00						
41		S.F		\$27,864.00					•	
42		EA		\$6,630.00						
43		L.F		\$21,000.00						
43		L.F		\$21,000.00						
45		E.F		\$30,000.00						
45		L.F								
47			1 '	\$47,500.00 \$4,776.00						
48		L.F		\$1,776.00						
49		S.F L.F		\$114,543.00						
49 50				\$52,499.00 \$7,648.00						
50	000	S.F	\$9.56	\$7,648.00						
TAL ESTIN	ATED BASE BI	D AMOUNT		\$38,171,950.43						
			<u> </u>]					

1. SOLICITATION NUMBER PAGE 10 OF 10 ABSTRACT OF OFFERS W912BU-14-B-0004 CONSTRUCTION INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on CONTINUATION SHEET a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed. 2. PROJECT TITLE OFFERS (Continued) NO.: 37 (LB) NO.: (LB) NO.: NO.: A. OFFEROR A. OFFEROR A. OFFEROR RICHARD E. PIERSON A. OFFEROR WEEKS MARINE, INCORPORATED B. BID SECURITY (TYPE AND AMOUNT) CONTINUED 3. CONTRACT ITEMS C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED C. AMENDMENT ACKNOWLEDGED A. В. C. **ESTIMATED** ITEM UNIT D. UNIT E. ESTIMATED D. UNIT E. ESTIMATED E. ESTIMATED D. UNIT E. ESTIMATED NO. QUANTITY PRICE **AMOUNT** PRICE **AMOUNT AMOUNT** PRICE **AMOUNT** OPTION BID ITEMS: OPTION 1: SECTION 2 BOARDWALK CONSTRUCTION - STA 13+38 TO STA 17+19 51 JOB LS \$260,581,00 52 59 EΑ \$2.878.00 \$169.802.00 53 EA \$25,549.00 \$51,098.00 54 17 EA \$15,130.00 \$257,210.00 55 9.086 L.F \$19.02 \$172,815,72 56 107 EΑ \$335.06 \$35,851.42 57 8,400 S.F \$29.00 \$243,600,00 58 117 EΑ 650.00 \$76,050,00 59 800 L.F \$30.00 \$24,000.00 60 21 \$2,517.00 EA \$52,857,00 61 42 EA \$1,258.00 \$52,836,00 TOTAL ESTIMATED OPTION 1 BID AMOUNT: \$1,396,701.14 62 JOB LS \$105.283.00 63 88 EΑ \$6,208,00 \$546,304.00 64 3 EA \$44.000.00 \$132,000.00 65 EA \$49,000.00 \$49,000,00 66 24 EA \$30,500.00 \$732,000,00 67 14,542 L.F \$19.03 \$276,734,26 68 162 EΑ \$335.30 \$54,318.60 69 13,000 SF \$28.97 \$376,610.00 70 154 EΑ \$650.00 \$100,100,00 71 1,120 L.F \$30.00 \$33,600,00 72 29 EA \$2,185.00 \$63,365.00 73 EA \$1.092.00 \$63,336.00 TOTAL ESTIMATED OPTION 2 BID AMOUNT: \$2,532,650.86 TOTAL ESTIMATED BASE BID AND OPTIONS 1 & 2 AMOUNT: \$42,101,302.43 NSN 6540-01-280-5502